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3. Assuwe —that all reemals of a Pammder):;ed
curve o) poss Thew @ fuxed Pt

Prove thet Hhe Hoace of &) 1s codeuned v o cincla.

4. Gieen tha 'Plcuu; curve o) IT—>R"
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a. Deﬁrem‘m@ U
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C. Tofermung  where N £ 44 are ot well debined
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i. Consider +tha

(s, 0, €7)  s>o0
X()=x( s, ef‘/ét, O) , $S< O

(O)O) O) y = 0O

a. Poove dhoot ols) is o dfferentialle curve, .
b, Prove Fhett o (9) s reaulow* foc el s and thadt

3
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e curvature Kis) # . for s2 o, s £ 255

and kK@ =0 .

| C. Show Htat the hmt of {he OSCU\,)OU)'\."\S ??av\cj s
S—0 , s>0 5 the plane y=o  but Hhat Fhe

lmit s s> 0, s<0 (s 220 .

d. Show Fhat T Cam be defined so that T=0

even "H\O\/S)’\ A 1S not CL plar\ﬂ, curve. .
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